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STATISTICS

( Skill Enhancement Course)

Answer the Questions from any one Option.

OPTION-A
( Statistical Data Analysis Using R)
Paper : STA-SE-4014

OPTION-B
( Database Management System)
Paper : STA-SE-4024

OPTION-C

( Statistical Techniques for Research
Methods)

Paper : STA-SE-4034

Full Marks : 50
Time : Two hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION - A
Paper : STA-SE-40 14

( Statistical Data Analysis Using R )

1. Answer the following questions : (any four)

1x4=4

(@) A command used for ‘logarithm of x

(b)

(c)

()

(e)

with base n’ is

(Fill in the blank)
In R, missing values are represented
by which should be in
capital letters. (Fill in the blank )
For a given vector x=c(4,7,2,9,5,10),
the values obtained by using sort (x)
are — —— (Fill in the blank )

Which of the following is used for
reading in saved workspaces ?

(i) Unserialize
(i) Load
(iii) Get
(iv) Set '

( Choose the correct option )

What plot(s) are used to view t
regression ?

(i)  Scatter plot

(i) Box plot

(iii) Density plot
(iv) All of the above

he linear
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(9)
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(h)

() Which of the following codes creates n

samples of size ‘size’ with probability
‘prob’ from the binomial ?

(i) 2z «—_ rinom (n, size, prob)
(i) 2z «—_ rbinom (n, size, prob)
(iii) z «——_ binom (n, size, prob)

(iv) z > — nom (n, size, prob)
( Choose the correct option )
Which of the following codes creates

an ‘n’ item vector of random normal
deviates ?

i) X1 < — C (snorm(n))
(i) X1 <— C (pnorm(n))
(iii) X1 < — C (rnorm (n))

(iv) X1 <— C (norm (n))
(Choose the correct option)

lists the variables in the
workspaces.
() rm(x)
(i) rm (list = 1s())
(iii) 1s ()

(iv) attach (mat)
(Fill in the blank )
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2. Answer the following questions : (b) Write down different commands

three) 21‘;__'_%’ available in R to load text data.
: i for t-test of one
(@) Write the summary and table functi (c) Write the procedure
used in R. € function sample in R.

(d) Write down the R commands of the
two samples t-test.

(b) Write down the R command to

construct the followi ix
1§ matrix : (e) From a population of size 15000, draw

1 3 9 w a sample of size 8 (without
4 2 6 : replacement) by using appropriate

. R-programmin
(c) Write down a short note on the progr g

relational operators used in (/i Write R codes to construct box plot
R programming language. and qq plot to che(.:k the normality of
. the parent population.
(d) Write down the R command to draw a

histogram for the data sef . 4. Answer the following : (any three)1 Ox3230
X=
12, 14, 5, 7, 14, 17, 4, 9, 9, 5. | (@) Given, |
o e e on e g
in i
language. Programming 4 >
. 4 10
1] LV;:'CC down the R command to find out 7 4
Stquence of odd numbers less 22
than or equal to 21. | .
3. Answer the following questions : (any two) 1 2 =
(@) Writ 5x2=10 Write down the commands to carry
ritt a note on different  data out the linear regression iIn
structures in R. a R programming language.
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(b) Write R codes to fit a normal

(c)

(d)

Test 1:
Test 2 :

(e)

distribution for x;|fi(i=1,2,...,5)
and also test the goodness of fit.

Write R codes to —

(i) draw bar chart for a given data
vector r.

(i) draw pie chart for a given data
vector r.

The test scores of 8 students of class
XI are as follows :

90 90 80 90 92 88 90 63
84 84 82 9% 90 85 89 62
Using R  programming language

determine whether these students can
perform equally in two different tests.

Write R codes to fit a binomial
distribution for given

x%/fi(i=1,2,.,5) and also test the
goodness of fit.
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() Using R, fit a Poisson distribution to
the following data :

Number of mistakes Number of pages
per page

0 109
1 65
2 22
3 3
4 1

Total 200

(g A random sample of size 10 is taken
from a normal population with mean

p and variance o?, where o?is
unknown.

10 10
Given 2% =605 and ),x7=390
i=10 i=1
Write R codes to determine a 90%
confidence interval for the population
mean.

(h) For the given vectors x and y, write R
codes to fit a line of regression and
plot a graph.
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OPTION-B
Paper : STA-SE-4024
( Database Management System )

1. Answer any four of the following : 1x4=4

(i) Which of the following is not a f
database ? wpe o

(a) Hierarchical
(b) Network
(c) Distributed
(d) Decentralized
(Choose the correct option)

(i) Which of the following is a feature of
DBMS ?

(@) Minimum Duplication and
Redundancy of Data

(b) High level of security
(c) Single-user access only
(d) Support ACID property

(Choose the correct option)

(i) Which of the following ; i
the DEMS 5 g 1s a function of

(@) Storing date

(b)  Providing multi-yg
control
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€rs access

[A

(d) Data integrity
(e) All of the above
(Choose the correct option)

(iv) The DBMS acts as an interface

v

between ——— and —— of an
interprise-class system.

(a) data and the DBMS
(b) application and SQL

() database application and the
database

(d) the user and the software
(Choose the correct option)

Who created the first DBMS ?
(a) Edgar Frank Codd
(b) Charles Bachman
(c Charles Babbage
(d) Sheron B Codd
(Choose the correct option)
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(vi) ¥n which of the fol
IS stored in DBMS ?

(a) Image

(b) Text

(c) Table

(d) Graph

(Choose the correct option)

(Uii) Wha om
newt < ind is used to a
tal)le in SQI t create

(b) BUILD TABLE
()

()

(6
(Choose the correct option)

e fi : .
of DD, » Ollowmg 18 the full form
(a) Data

efinjt;
(b) Daty 4 1on Language

erivati()n L
;;) Dynan'lic Data L anguage
) Detaileg Dats Lajlnguage
gua,
(ChOOSe th ge

€ correct option)
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(@)

(b)

(@)

(b)

()
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Answer any three of the following :2x3=6

What is meant by ACID properties in
DBMS ?

What are the disadvantages of file
processing system ?

Define tuple and attribute.
What is meant by a database ?

What are the main differences between
primary key and unique key ?

What is meant by RDBMS ?

Answer any two of the following : 5x2=10

What are different languages present
in DBMS ? Explain them.

What is the use of DROP command ?

What are the differences among
DROP, TRUNCATE and DELETE
commands ? 2+3=5

Write a short note on relational model.
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table wherg 7, Jo¢ for the following
selling itemslt' Teturns only the top five

Mr\m the table .

D

T o ] Kot sor |

2 | Sancer ——l |
\

| S| P — 22
T o 96—
| S [ Spoon T—34____
o [ Kaite 1T—35___
T og — 28
S Gl 28
— Tumbler | —2¢

() Create 4 table 02\4

;‘;tlll‘ibutes given t;):loxse;n * taking the
ept., Cc’mtact C;e;ft Hame, Address,
O Wri
caﬁtieidtallltz gﬁerﬁz;e between, primary,
4 Answer any three of the follow;
(@ What is 8QL » OWIng1(;x3=30

h
‘Zyd° we use SQL ?
PeS of joints in
2+2+6=10
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(b) Explain different types of keys in
DBMS with example. 10

(c) Explain different types of relationships
in DBMS. What are the major
advantages of DBMS ? Write the
differences  between DBMS and

RDBMS. 4+3+3=10

(d) What do you mean by data model ?
Explain all the types of data model
used in DBMS. What is an entity-
relationship model ? 2+6+2=10

(e) Explain 2-tier and 3-tier architecture
in DBMS with example.

(N What is an index in SQL ? Describe
different types of indexes in SQL with
example. What are the set operators in
SQL ? 2+6+2=10

What is data abstraction in DBMS ?
Explain different levels of data
abstractions in DBMS. What is query
in DBMS ? 2+6+2=10

(9)
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(h)

a‘r

id | Name [ A
—— ge
[ 1] Bob [ 21

count of people that

are the
S4mMe age in the table. 5

retu que i
o
5
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OPTION-C
Paper : STA-SE-4034

( Statistical Techniques for
Research Methods)

1. Answer the following questions as directed :

(any four) 1x4=4
fom SR FefRke emERe Tew fumt ¢
(Rt 5ifd5Y)

(a) The research problem undertaken for

study must be carefully .
( Fill in the blank )

QT AR T AT TPV TG
— ) O TNNGCi cT)

(b) Data collected for survey from
warranty cards are secondary data.
( True or False)

D FGT A TR AR TRAR F4I O
T2z (N9 o (51 1 )
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(c)

(d)

(e)

(9)

(h)

Collection of data through

questionnaires is free from the bias
of the interviewer., (True or False)

m' ' w| N W’ RIS gy AT e ArwieT
o3 | CBY g )

What is editing in

analysis of datg ?

W ai%ﬁﬂﬁﬁ‘f Wﬁ: ﬁm% W ﬁi 0
What is coding ?
@Ife: & ¢

Processing and

Deﬁne unemployment rates,

mmﬁmﬁ]‘wl

research ?

?
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2. Answer the following questions : (any
three) 2x3=6

AnfhiRe @ e W ¢ (R o))
(@) What is research ?

aiceEe & 2

(b) What do you mean by research
problem ?

!'
| sigEe U ad & ¢
(c) Write a note on questionnaire.

SeTIY 8ol Fe Bl (ORFt o7 |

(d) What is data processing ?
io! AGRR =

(e) What do you mean by removal of
subsidy ?
AT SiowERR wd & 2

() When are both quantitative and
qualitative methods beneficial ?

qﬁmqﬂ@m@qﬁ@m%ﬁw%m
Ao ?
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() Write different steps of data
processing. Also write a note on
different types of data processing

tools.
ool AferaReT RSm omosst fordl| s
ﬁi@wwﬁﬁmﬁaﬁqﬁamm
foran

(g) Develop a questionnaire to collect
survey data pertaining to a research
problem. (Gender discriminations in
private v/s government sector).

SRR T4 &R w2y ey TR

mﬁ&mﬁwwwﬂ%ﬂ@mm@
Qe fzet ()

(h) What do I need to consider when doing
interviews ? What are the issues, or
concerns in conducting interviews ?

W@Nﬁ@t@ﬂ%%ﬁmwaﬁaaﬁa ?
Wmmmwwznmwﬁs 9
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